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UNIVERSITY OF NORTH BENGAL 

B.Com. General Part-II Examination, 2022 

B.COM. 
PAPER-2G3 

ECONOMIC PROBLEMS 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 

 GROUP-A / িবভাগ-ক 
 Answer any two questions  

েয-েকােনা dিট  pেűর উtর দাও 
dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

15×2 = 30

1.  (a) Discuss the present system of agricultural credit in India. 8+7=15
 ভারেতর বত�মান kিষঋণ পdিত বণ�না কর। 
 Hkkjrdks orZeku Ñf’k _.k iz.kkyhdks ckjsek ppkZ xuZqgksl~A 

(b) Mention the changes in it in the last four decades. 
 িবগত চার দশক-এর মেধয্ েয পিরবত�নgিল হেয়েছ তা উেlখ কর। 
 foxr pkj n”kdek ;lek Hk,dk ifjorZug: mYys[k xuZqgksl~A 

  

2.  (a) Mention the objectives of GATT. 5+(5+5)=15
 GATT–এর উেdশয্gিল উেlখ কর। 
 GATT dk mÌs”;g: mYys[k xuZqgksl~A 

(b) Briefly discuss the functions of IMF and World Bank. 
 IMF এবং World Bank-এর কায�াবলী সংেkেপ বণ�না কর। 
 IMF j fo cSaddks dk;Zg:dks ckjsek laf{kIr ppkZ xuZqgksl~A 

  

3.  (a) Explain the principal features of Industrial Policy, 1991. 5+5+5=15
 িশlনীিত, ১৯৯১-এর pধান ৈবিশŶয্gিল বয্াখয্া কর। 
 vkS|ksfxd (Industrial) uhfr 1991 dks izeq[k fo”ks’krkg: O;k[;k xuZqgksl~A 

(b) Mention the objectives of this policy. 
 এই িশlনীিতর উেdশয্gিল উেlখ কর। 
 ;l uhfrdk mÌs”;g: mYys[k xuZqgksl~A 
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(c) What are the main impacts of this industrial policy? 
 এই িশlনীিতর মূল pভাবgিল িক িক ? 
 ;ks vkS|ksfxd uhfrdks eq[; izHkko ds gks \

  
4.  (a) Discuss the main features of a developing country like India. 8+7=15
 ভারেতর মত একিট উnয়নশীল েদেশর ৈবিশŶয্gিল আেলাচনা কর 
 Hkkjr tLrks fodklksUeq[k ns”kdks eq[; fo”ks’krkg: NyQy xuZqgksl~A 

(b) To what extent the population explosion and unemployment problem in India 
hinder upon economic development? 

 ভারেতর অথ�ৈনিতক উnয়েন জনিবেsারণ ও েবকারt সমসয্া কতটা বাধার সৃিŶ কের ? 
 Hkkjrek tul³~[;k foLQksV j csjkstxkjh leL;kys vkfFkZd fodklek dfr ck/kk 

iqÚ;k,dks N \ 

  
 GROUP-B / িবভাগ-খ 
5. Answer any two questions : 

েয-েকােনা dিট  pেűর উtর দাওঃ 
dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

5×2 = 10

(a) Write a note on Fiscal Policy of India. 
 ভারেতর Fiscal Policy সmেn একিট টীকা েলখ। 
 Hkkjrdks ‘Fiscal Policy’ ek fVIi.kh ys[uqgksl~A 

(b) What are the basic problems of rural credit in India? 
 ভারতীয় gামীণ ঋেণর মুখয্ সমসয্াgিল িক িক ? 
 Hkkjrek xzkeh.k _.kdks vk/kkjHkwr leL;kg: ds gqu~ \ 

(c) Do you support disinvestment of public enterprises? Give your argument. 
 সরকাির pিতŸান-এর িবলিgকরণ িক tিম সমথ�ন কর ? যুিk দাও। 
 ds rikbZ lkoZtfud laLFkkug:dks (public enterprises) fofuos”kykbZ 

(disinvestment) leFkZu xuZqgqUN \ vk¶uks rdZ fnuqgksl~A 
(d) What are the problems of developing country in world trade? 

 ৈবেদিশক বািণেজয্ উnয়নশীল েদেশর সমসয্াgিল উেlখ কর। 
 fo O;kikjek fodklksUeq[k jk’Vªdk leL;k ds Nu~ \ 

  
 GROUP-C / িবভাগ-গ 
6. Answer any five questions : 

েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 
dquS ik¡poVk iz”udk mÙkj ys[uqgksl~ 

2×5 = 10

(a) What is the main objective of setting up NABARD? 
 NABARD-এর pিতŸার মলূ উেdশয্ িক ? 
 ukckMZ (NABARD) LFkkiuk xuZqdks eq[; mÌs”; ds gks \ 
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(b) What is meant by “industrial sickness”? 
 ‘িশেlর rgতা’ বলেত কী েবাঝ ? 
 ‘Industrial sickness’ HkUukys ds cqf>UN \ 

(c) What is disguised unemployment? 
 ছd েবকারt িক ? 
 izfrf’Br (disguised) csjkstxkjh ds gks \ 

(d) Define black money. 
 কােলা টাকার সংjা দাও। 
 dkyks /ku ifjHkkf’kr xuZqgksl~A 

(e) What is regulated market?  
 িনয়িntত বাজার িক ? 
 fofu;fer (regulated) ctkj ds gks \ 

(f) When was IMF and World Bank established? 
 IMF এবং World Bank কেব pিতিŸত হেয়িছল ? 
 IMF j fo cSaddks LFkkiuk dfgys Hk,dks gks \ 

(g) What is rural marketing? 
 gামীণ বাজারজাতকরণ িক ? 
 xzkeh.k ekdsZfV³ ds gks \ 

(h) Write the concept of Monetary Policy. 
 Monetary Policy-র ধারণা উেlখ কর। 
 ekSfnzd uhfrdks vo/kkj.kk ys[uqgksl~A

(i) What is the vicious circle of poverty? 
 দািরেdয্র dŶচk িক ? 
 xfjchdks nq’V (vicious) ldZy ds gks \ 

(j) What is WTO? 
 WTO িক ? 
 WTO ds gks \ 
 

——×—— 
 


